
Mock	Exam	3	
	

1. 	

		

	

	

	
2. 	

	
b. angular	momentum	

	

	
	
3. 	

	
b. Kr		>		Br		>		Se		>		Ge		>		Ga	

	
	
	

	
4. 	

	
b. Be2+	

	
	
	

	
5. 	

		
4d,			6s,			2s,			4f,			2p	

	
	
	

6. 	
	

	

	
	

 



7. 	

	
	
	
	
8. 			

	

	

	

	

9. 	

	
	
	
	

	
	

	
	

	
	

	
	

	
10. 	

	
d.		K		>		Ca		>		Ge		>		As		>		Kr	

	
	
11. 	

	
	
	
	
	
	
	
	



12. 	
	

	
	

														 	
														 	
														 		
	

	
	

c) II	and	III.	

	
	
13. 	 	

a)	14;	10;	6.	
	

	
	

	
	

14. 		
a. N-F	<	C-F	<	B-F	<	H-F.	

	
		
	

	

15. 	
a)		

	
b)		

	
c)		

	
d)		



	
e)		

	
	

	
16. 	

		
		

	
	

	
e. Quadruples.	

	

17. 	
	

		
	

b. The	volume	of	each	gas	would	be	5.0	L	and	the	pressure	would	be	1.0	atm.	
	
	

	
	

18. 	
	

	
	

	
a. The	temperature	reading	is	too	high	and	could	be	due	to	a	malfunctioning	thermometer.	

	
	

d. An	outside	heating	source	may	be	present.	
	

	

19. 		
a. 2.18	atm		

		

	
	



20. 	

a)	s;	f.	
	
	
	

		
	

21. 		
	

b) Nitrogen.	
c) Arsenic.	

	
	
22. 	

	
a. n	=	2,	l	=	1,	ml	=	0,	ms	=	+1/2.	

	
c. n	=	2,	l	=	0,	ml	=	0,	ms	=	+1/2.	

	
	

	

																			I.																										
	
23. Which	orbitals	could	e

a. I	only.	
	

	
	
24. 

	
	

	



25. 	

	
a) 	

	

	
	
	

b) 	

	
	
	
	
	
	

c) 	

	
	

	
	
	

26. 	

	
	
	
27. 	

		

	
	
	
28. 	

		

	
	
	
29. 	

		

	
	



30. 	
	

	
d) δ-	Cl-P	δ+	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



	




